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1. 200 3005n    

Ⓐ 10    Ⓑ 11 

Ⓒ 12    Ⓓ 13 

 

2. R 2 2 2x y a  ∬ 𝑒−𝑥2−𝑦2
𝑑𝑥 𝑑𝑦

𝑅
=  

Ⓐ
2

(1 )ae    Ⓑ   

Ⓒ 
2ae     Ⓓ

2

1 ae  

 

3. 100! 2 3k mN P    P 6 (𝑘, 𝑚) =  

Ⓐ (99 50) Ⓑ (97 45) 

Ⓒ (97 48) Ⓓ (95 48) 

 

4. 𝐴 = 117 − 10 ∙ 116 − 12 ∙ 115 + 9 ∙ 114 + 23 ∙ 113 −

13 ∙ 112 + 30 ∙ 11 + 2 A=  

Ⓐ 90   Ⓑ 80 

Ⓒ 70   Ⓓ  

 

5. ,a b R 7 7log 11, log 13a b  7log ( )a b

 

Ⓐ 24   Ⓑ 15 

Ⓒ 14   Ⓓ 13 

 

6. 
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2

1

(1 )k

k

x


 6x  

Ⓐ 280  Ⓑ 300 

Ⓒ 330  Ⓓ 360 

 

7. n  100 3 n

1200 2 n  

Ⓐ 650  Ⓑ 500  Ⓒ 540  Ⓓ 700 

 

8. 1 2 3 4 5 6 7 1 2 3
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9. 100 10

3 5 2

0.6

 

Ⓐ 0.6 2y x    Ⓑ 0.4 1y x   

Ⓒ 0.6 3y x    Ⓓ 0.4 2y x   

 

10. 𝑓(𝑥) = 𝑥 cos 𝑥 𝑦 = 𝑓(𝑥) 𝑥 = 𝜋

 

Ⓐ   Ⓑ  

Ⓒ   Ⓓ  

 

11.  
1

sin θ+1
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cos θ+1
+

1
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+

1

cot θ+1
+

1

sec θ+1
+

1

csc θ+1
  

Ⓐ 1   Ⓑ 2 

Ⓒ 3   Ⓓ 4 

 

12. C  C1: (x − 5)2 + y2=16, 

C2: (x + 5)2 + y2=4 , C  

Ⓐ 
x2

1
−

y2

24
= 1  Ⓑ 
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24
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1
= 1 
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24
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13. , , , 

, 1  

Ⓐ 1252  Ⓑ 1873 

Ⓒ 2372  Ⓓ 2793 

 

14. L1 : 
x−11

4
=

y+5

−3
=

z+7

−1
 , L2 : 

x+5

3
=

y−4

−4
=

z−6

−2
 L1 

L2  

Ⓐ √78  Ⓑ √82 

Ⓒ √84  Ⓓ √86 

 

15.  x, y, z ∈ R+ , x + y + z = 4,  x = a, y = b, z = c 

, 
1

x
+

4

y
+

9

z
 a  

Ⓐ 1/3  Ⓑ 2/3 

Ⓒ 4/3  Ⓓ 5/3 

 

16.  sinα + sinβ + sinγ = 0 cosα + cosβ + cosγ = 0

 cos2α + cos2β + cos2γ  

Ⓐ 1/2  Ⓑ 0 

Ⓒ 1   Ⓓ 3/2 

 

17.  x2 − (3 − 2i)x + (5 − 5i) = 0,  

x = a + bi, a, b ∈ R, b  

Ⓐ -2   Ⓑ -3 

Ⓒ 2   Ⓓ 3 

 

18. a = det (

1   1
2   4

1   1
8  16

 3  9
4 16

27 81
64 256

) , a  

Ⓐ 16   Ⓑ 18  

Ⓒ 20   Ⓓ 22 

 

19.  A = (
1 2 −1
2 0 1

−1 1 2
)  A3 + aA2 + bA + c𝐈 = 𝟎, 

a,b,c ,𝐈, 𝟎 3 , b

 

Ⓐ -1   Ⓑ -2 

Ⓒ -3   Ⓓ -4 

 

20. 𝑓(𝑥) = (𝑥 + 1)100 + 𝑥sin 𝑥 + sec 𝑥 𝑓′(0)  

Ⓐ 0   Ⓑ 100 

Ⓒ 𝜋   Ⓓ −𝜋 

 

21. lim
n→∞

(
1

𝑛5 +
24

𝑛5 + ⋯ +
𝑛4

𝑛5)  

Ⓐ 1/5  Ⓑ 1/6 

Ⓒ 1/7  Ⓓ 1/8 

 

22. S 𝑦 = 1 − 𝑥2 𝑥 S 𝑦

 

Ⓐ 16𝜋  Ⓑ 𝜋/2 

Ⓒ 𝑒2𝜋  Ⓓ 1 

 

23. 𝑓(𝑥, 𝑦) = (𝑥2 + 𝑦2)/2 𝑓 (1,1)

(1,2)  

Ⓐ 2/√3  Ⓑ 1/√2 

Ⓒ 3   Ⓓ 3/√5 

 

24. (1,1, −2) (2, −1,1) (1, −2, −2)

 

Ⓐ 15   Ⓑ 23 

Ⓒ 3   Ⓓ 7 

 

25. {

2𝑥 + 𝑦 + 3𝑧 = 2
𝑥 + 3𝑦 + 𝑧 = 1

𝑥 − 2𝑦 + 2𝑧 = 1

 

Ⓐ  

Ⓑ  

Ⓒ  

Ⓓ  


